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Seat No.: ________                                                           Enrolment No._______ 

 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–II (CtoD) • EXAMINATION – SUMMER • 2014 

 

Subject Code: C320901 Date: 25-06-2014        

Subject Name: Basic Of Electrical Engineering 

Time: 10:30 am - 12:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions. 

2. Make suitable assumption wherever necessary. 

3. Each question is of 1 mark. 

4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed) 

5. English version is authentic. 
 

No. Question Text and Option 

1. 

The main function of the salt used in earthing is to 

A. Provide the protection  B. Absorb the moisture 

C. Reduce the conductance D. None of above 

2. 

Fleming’s left hand rule is used to find the direction of   

A. EMF B. Force 

C. Current D. None of above 

3. 

The fuse work on 

A. Magnetic principal B. Heating principal 

C. Ohm’s law D. Faraday’s law 

4. 

The area of hysteresis loop shows 

A. Copper loss B. Hysteresis loss 

C. Iron loss D. Eddy current loss 

5. 

The number of windings in single phase auto transformer are  

A. 4 B. 3 

C. 1 D. 2 

6. 

The full form of HRC fuse is 

A. High rupturing capacity B. High restricted current 

C. Heavy restricted current D. High ruptured current 

7. 

Ampere is the unit of  

A. Voltage  B. Current 

C. Frequency D. Power 

8. 

Which relationship is incorrect 

A. V = IR B. P = VI 

C. R = P/V D. P = I
2
R 

9. 

Which rule is used to find the direction of EMF induced in generator? 

A. Fleming’s right hand rule B. right hand rule 

C. Fleming’s left hand rule D. Cork Screw Rule 

10. 

The main function of the earthing is to 

A. Provide protection to person 

against electric shock 

B. Maintain proper function of electric 

system 

C. Maintain constant line voltage D. All of above 

11. 

In India, the supply frequency of electricity is 

A. 60 Hz B. 50 Hz 

C. 5 Hz D. 25 Hz 

12. 

AT is the unit of  

A. EMF B. MMF 

C. Reluctance D. Resistance 
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13. 

According to Fleming’s left hand rule, First finger represent,  

A. Direction of motion B. Direction of current 

C. Direction of mmf D. Direction of voltage 

14. 

Unit of frequency is  

A. Second B. Second 
-1 

C. Hz D. Both (B) and (C) 

15. 

Permeability of vacuum is 

A. 4π *10
-17 

B. 4 π 

C. 4π *10
-7

 D. 1 

16. 

The value of form factor for sinusoidal wave is 

A. 11 B. 1 

C. 0.11 D. 1.11 

17. 

Average value of sinusoidal wave is  

A. Always Zero B. Greater then RMS value 

C. Less than RMS value D. Equal to RMS value 

18. 

Power factor of resistive load is  

A. Lagging  B. Leading  

C. Zero D. Unity 

19. 

The unit of reluctance is 

A. Wb/m
2 

B. AT/Wb 

C. AT/m D. H/m 

20. 

If the RMS value of the voltage is 230 V then its maximum value is 

A. 300 V B. 230  V 

C. 460 V D. 324.3  V 

21. 

Earth wire or ground wire is made of:  

A. Copper B. Iron 

C. Aluminium D. galvanized steel 

22. 

Average resistance of  human body is: 

A. 2000 ohms B. 1500 ohms 

C. 1000 ohms D. 500 ohms 

23. 

The property of the conducting material to oppose the flow of current is known as 

A. Conductance B. Permeance 

C. Resistance D. Reluctance 

24. 

Which is the right formula for delta connected system? 

A. VL=Vph B. IL=√3Iph 

C. Both (a) and (b) D. None of above 

25. 

Moisture content in the soil __________ the earth soil resistance: 

A. Decrease B. does not affect 

C. Increase D. none of the above 

26. 

Apparent power S =  

A. VI sin Ф B. VI cos Ф 

C. VI tan Ф D. VI 

27. 

Time period is the inverse of  

A. Cycle B. Frequency 

C. Peak value D. Peak factor 

28. 

Power factor is the ratio of  

A. Active power to Reactive power B. Reactive power to Apparent power 

C. Active power to Apparent power D. Apparent power to Active power 

29. 

The power factor of the circuit connected with DC supply is 

A. 1 B. 0 

C. 0.45 D. 0.3 

30. Numbers of turns are more in ___________ winding of transformer. 
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A. Primary winding  B. Secondary winding 

C. High voltage winding D. Low voltage winding 

31. 

A 100 W, 230 volt bulb draws a current of 

A. 1 A B. 0.1 A 

C. 4.34 A D. 0.434 A 

32. 

The condition for the series resonance is 

A. L=C B. XL=XC 

C. XL+XC=0 D. None of above 

33. 

A shell type transformer is commonly used as it has:  

A. Two magnetic paths B. Reduced magnetic flux leakage 

C. Both (a) and (b) D. Reduced copper loss 

34. 

____________ Losses of transformer are constant. 

A. Copper B. Iron 

C. Hysteresis  D. Eddy current 

35. 

The transformer having a 100 turns in primary winding and 200 turns in secondary 

winding is known as 

A. Step-down transformer B. Isolation transformer 

C. Step-up transformer D. None of the above 

36. 

Transformer transfer the power from one circuit to another without changing 

A. Voltage B. Current 

C. Frequency D. Magnetic flux 

37. 

Rating of Induction motor is given in terms of  

A. kVA B. kW 

C. kVAR D. Hp 

38. 

In transformer, the eddy current loss can be reduced by using    

A. Good conducting material B. Laminations 

C. Good magnetic material D. High voltage 

39. 

Neutral point is only available in .......... connection. 

A. Three phase B. Single phase 

C. star D. delta 

40. 

Current lead the voltage in  

A. Inductive circuit B. Capacitive circuit 

C. Resistive circuit D. All of the above 

41. 

Power factor =  

A. R/Z B. R/X 

C. X/Z D. Z/R 

42. 

Resistance of conductor is not affected by .................... 

A. Temperature  B. Length 

C. Weight D. Material 

43. 

As the temperature of metal increases, resistance............ 

A. Decrease B. Increase 

C. Remain constant D. None of the above 

44. 

If four resistors are connected in series, each with a value of 4Kohm, the total 

resistance is  

A. 16 kΩ B. 8 kΩ 

C. 4 kΩ D. 1kΩ 

45. 

Which equation is incorrect for transformer? 

A. V1/V2  =  E1/E2 B. V1/V2  =  I1/I2 

C. V1/V2  =  N1/N2 D. V1/V2  =  I2/ I1 

46. The core of the transformer is made from 
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A. Aluminium  B. Silicon steel 

C. Copper D. Plastic 

47. 

The function of yoke in D.C. Generator is............ 

A. To create flux B. To provide magnetic path to flux 

C. To rotate armature D. None of the above 

48. 

Commutator segment is made by...... 

A. Iron B. Copper 

C. Aluminium D. Carbon 

49. 

Which motor is used in watch 

A. 3 phase induction motor B. Universal motor 

C. Stepper motor   D. None of the above 

50. 

Flux in magnetic circuit is like .................. in electric circuit. 

A. Potential B. Voltage 

C. Power D. Current 

51. 

 What is the value of R.M.S. current in A.C.? 

A. Im/π B. 2Im/ π 

C. Im/2 D. Im/√2 

52. 

Two way switch is used in __________ wiring 

A. Tube light wiring  B. Decoration wiring 

C. Stair case wiring D. None of above 

53. 

The transformer works on the principal of  

A. Flemings left hand rule B. Faraday’s law 

C. Ohm’s law D. None of above 

54. 

Which type of single phase induction motor is used in domestic ceiling fan? 

A. Shaded pole motor B. Capacitor start induction run 

C. Capacitor start capacitor run D. Resistance start induction run 

55. 

1 kΩ =  

A. 10
3
 B. 10

10
 

C. 10
9
 D. 10

6
 

56. 

Resistance of conductor depends on 

A. Length B. Cross sectional area 

C. Resistivity D. All of the above 

57. 

If  E=30 sin 2π 50t then what is the maximum value of voltage 

A. 50 B. 30 

C. 2π D. None of above 

58. 

The transformer rating is in 

A. KWhr B. KVAr 

C. KVA D. KW 

59. 

Energy expended or heat generated in joules when a current of I amperes flows 

through a conductor of resistance R ohms for t seconds is given as 

A. I
2
Rt B. I Rt 

C. IR
2
t D. I Rt

2
 

60. 

A 5  resistance having current of 2 A will dissipate the power of 

A. 20 W B. 10 W 

C. 8 W D. 2 W 

61. 

The main function of the starter used in induction motor is to 

A. Protect the motor B. Start the motor 

C. Limit the starting current D. Increases the efficiency 

62. 

The short circuit test of the transformer gives 

A. Copper loss B. Total loss 

C. Iron loss D. None of above  
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63. 

The unit which indicates the rate at which energy is expended? 

 

A. Volt B. Watt 

C. Coulomb D. Ampere-hour 

64. 

There are three bulbs of 25 W, 40 W, and 60 W. which of them has the lowest 

resistance?  

A. 25 W B. 60 W 

C. 40 W D. Information incomplete 

65. 

The unit of magneto motive force is 

A. Weber B. ampere/meter 

C. Henry D. ampere-turn 

66. 

Cross sectional area of conductor is higher in............. winding of transformer. 

A. Primary B. Secondary 

C. Low voltage D. High voltage 

67. 

The universal motor works on 

A. AC supply only B. DC supply only 

C. Both; AC and DC D. None of above 

68. 

In parallel circuit....................are same. 

A. Voltage across elements  B. Current flowing through elements 

C. Voltage and current both D. None of the above 

69. 

Current lagging the voltage in................. circuit. 

A. R-L B. R-C 

C. R-L-C D. L-C 

70. 

The open circuit test of the transformer is used to find 

A. Copper loss B. Total loss 

C. Iron loss D. None of above  

 

************** 

ગજુયાતી 

ન.ં પ્રશ્ન તેભજ વલકલ્઩ 

1. 

અથીંગભા ંભીઠું લા઩યલાનુ ંમખુ્મ કાયણ એ છે કે,  
A. વરાભતી ભ઱ે. B. બેજ ળો઴ે. 
C. કંડક્ટંળ ઘટે. D. ઉ઩યોક્ત વલધાનભાથંી એક ઩ણ નશી. 

2. 

ફ્રેભીંગનો ડાબા શાથ નો વનમભ ...... ની દીળા ળોધલા લ઩યામ છે.    
A. ઇએભએપ B. ફ઱ 

C. પ્રલાશ D. ઉ઩યોક્ત વલધાનભાથંી એક ઩ણ નશી. 

3. 

પરઝુ ............. ઩ય કામય કયે છે. 
A. ચુફંકીમ વવધધાતં B. ઉષ્ભાના વવધધાતં 

C. ઓશભના વનમભ D. પેયાડેના વનમભ 

4. 

હશસ્ટેયીવીવ લ઩ૂન ુકે્ષત્રપ઱........ દળાયલે છે. 
A. કો઩ય રોવ B. હશસ્ટેયીવીવ રોવ 

C. આમન રોવ D. એડી કયંટ રોવ 
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5. 

એક પેઝ લા઱ા ઓટો ટ્ાનં્વપોભયય ભા ં............ લાઈંડીંગ શોમ છે.  
A. 4 B. 3 

C. 1 D. 2 

6. 

એચ. આય. વી. પરઝુ ન ુ઩રુુ નાભ.................. 
A. શાઈ યપ્ચયીંગ કે઩ેવીટી B. શાઈ યીસ્ટીકટેડ કયંટ 

C. શલેી યીસ્ટીકટેડ કયંટ  D. શાઇ યપ્ચડય કયંટ 

7. 

એમ્઩ીમય............. નો એકભ છે. 
A. લોલ્ટેઝ B. પ્રલાશ 

C. આવતૃી D. ઩ાલય 

8. 

વનચેનાભાથંી કય ુસતુ્ર ખોટુ છે? 

A. V = IR B. P = VI 

C. R = P/V D. P = I
2
R 

9. 

જનયેટયભા ંઉત્઩ન્ન થતા ઇએભએપની દીળા કમા વનમભ ઩યથી ભે઱લી ળકામ છે? 

A. ફ્રેભીંગનો જભણા શાથનો વનમભ B. જભણા શાથનો વનમભ 

C. ફ્રેભીંગનો ડાબા શાથનો વનમભ D. કોકય સ્રૃનો વનમભ 

10. 

અથીંગન ુમખુ્મ કામય................. છે. 
A. વ્મક્ક્તન ેઇરેક્ટ્ીક ળોક વાભે 

યક્ષણ આ઩ે છે. 

B. ઇરેક્ટ્ીક વાધનોન ુકામય વ્મલક્સ્થત કયે 
છે. 

C. રાઇન લોલ્ટેજ અચ઱ યાખે છે. D. ઉ઩યોક્ત તભાભ વલકલ્઩ો. 

11. 

બાયતભા ંઇરેક્ટ્ીવવટીની આવ્રવૃત............. છે. 
A. 60 Hz B. 50 Hz 

C. 5 Hz D. 25 Hz 

12. 

AT............. નો એકભ છે. 
A. ઇએભએપ B. એભએભએપ 

C. યીરક્ટંવ D. અલયોધ 

13. 

ફ્રેવભિંગના ડાબા શાથના વનમભ મજુફ, ઩શરેી આંગ઱ી.......... દળાયલે છે. 
A. ગતી ની હદળા B. પ્રલાશ ની હદળા 
C. એભએભએપ ની હદળા D. લોલ્ટેજ ની હદળા 

14. 

આવવૃતનો એકભ............છે. 
A. વેકંડ B. વેકંડ-1 

C. Hz D. (B) અને (C) ફને્ન 

15. 

શનુ્માલકાવની ઩યવભએફીરીટી..........શોમ છે. 
A. 4π *10

-17 
B. 4 π 

C. 4π *10
-7

 D. 1 

16. 

વાઇનવુોઇડર લેલ ન ુપોભય પેક્ટય.........શોમ છે. 
A. 11 B. 1 

C. 0.11 D. 1.11 
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17. 

વાઇનવુોઇડર લેલની એલયેજ લેલ્ય.ુ...........શોમ છે. 
A. શભંેળા શનુ્મ B. RMS હકિંભત કયતા લધાયે 

C. RMS હકિંભત કયતા ઓછી D. RMS હકિંભત જેટરી 

18. 

યેઝીસ્ટીલ રોડ ન ુ઩ાલય પેક્ટય............. શોમ છે.  
A. રેગીંગ  B. રીડીંગ 

C. શનુ્મ D. યનુીટી 

19. 

યીરક્ટંળનો એકભ ............ છે. 
A. લેફય/ભીટય2 B. AT/લેફય 

C. AT/ ભીટય D. H/ ભીટય 

20. 

જો લોલ્ટેજની RMS હકિંભત 230 V શોમ તો ભશત્તભ હકિંભત  
A. 300 V B. 230  V 

C. 460 V D. 324.3  V 

21. 

અથય લામય અથલા ગ્રાઉંડ લામય ................નો ફનેરો શોમ છે.  
A. કો઩ય B. આમન 

C. એલ્યવુભનીમભ D. ગેલ્લેનાઇઝ સ્ટીર 

22. 

ભાનલ ળયીયન ુવયેયાવ અલયોધ.............. શોમ છે.  
A. 2000 ઓશભ B. 1500 ઓશભ 

C. 1000 ઓશભ D. 500 ઓશભ 

23. 

પ્રલાશનો અલયોધલાના લાશકના ગણુધભયને................કશલેાભા ંઆલે છે.  
A. કંડક્ટંળ B. ઩વભિમવં 

C. અલયોધ D. યીરક્ટંવ 

24. 

ડેલ્ટભા ંજોડેર વવસ્ટભ ભાટે નીચેના ભાથંી કય ુસતુ્ર વાચ ુછે? 

A. VL=Vph B. IL=√3Iph 

C. (a) અને (b) ફને્ન D. ઉ઩યોક્ત વલધાનભાથંી એક ઩ણ નશી. 

25. 

ભાટીભા ંયશરે બેજ ધયતીના અલયોધને __________. 
A. ઘટાડે છે B. અવય કયત ુનથી 
C. લધાયે છે D. ઉ઩યોક્ત વલધાનભાથંી એક ઩ણ નશી. 

26. 

એ઩યેંટ ઩ાલય S =  

A. VI sin Ф B. VI cos Ф 

C. VI tan Ф D. VI 

27. 

આલતયનકા઱..................ન ુવ્મસ્ત છે.  
A. વાઇકર B. આવવૃત્ત 

C. ભશત્તભ હકિંભત D. ઩ીક પેક્ટય 

28. 
઩ાલય પેક્ટય.........................નો ગણુોત્તય છે. 
A. એકટીલ ઩ાલય અને યીએકટીલ B. યીએકટીલ ઩ાલય અને એ઩યેંટ ઩ાલય 
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઩ાલય 

C. એકટીલ ઩ાલય અને એ઩યેંટ 
઩ાલય  

D. એ઩યેંટ ઩ાલય અને એકટીલ ઩ાલય  

29. 

DC વપ્રામ વાથે જોડેર ઩યી઩થ નો ઩ાલય પેક્ટય....................થામ છે. 
A. 1 B. 0 

C. 0.45 D. 0.3 

30. 

ટ્ાવંપોભયયની...................... લધ ુઆંટા શોમ છે. 
A. પ્રાઇભયી લાઇંડીગભા ં B. વેકંડયી લાઇંડીગભા ં
C. શાઇ લોલ્ટેજ લાઇંડીગભા ં D. રો લોલ્ટેજ લાઇંડીગભા ં

31. 

એક 100 W, 230 V ફલ્ફ...........નો પ્રલાશ રે છે.  
A. 1 A B. 0.1 A 

C. 4.34 A D. 0.434 A 

32. 

વીયીઝ યેઝોનવં ભાટેની ળયત....................છે. 
A. L=C B. XL=XC 

C. XL+XC=0 D. ઉ઩યોક્ત વલધાનભાથંી એક ઩ણ નશી. 

33. 

ળેર પ્રકાયન ુટ્ાવંપોભયય ભોટા બાગે લ઩યામ છે કાયણકે..................  
A. ફે ભેગ્નેટીક ઩ાથ શોમ છે. B. ભેગ્નેટીક ફ્રક્ષ રીકેજ ઓછુ થામ છે. 
C. (a) અને (b) ફને્ન D. કો઩ય રોવ ઓછુ થામ છે. 

34. 

ટ્ાવંપોભયયના____________ રોવ અચ઱ શોમ છે. 
A. કો઩ય B. આમન 

C. હશસ્ટેયીવીવ D. એડી કયંટ 

35. 

જે ટ્ાવંપોભયયની પ્રામભયી લાઇંડીગભા 100 આંટા અને વેકંડયી લાઇંડીગભા 200 આંટા શોમ 
તેને................કશલેામ. 
A. સ્ટે઩ ડાઉન ટ્ાવંપોભયય B. આઇવોરેળન ટ્ાવંપોભયય 

C. સ્ટે઩ અ઩ ટ્ાવંપોભયય D. ઉ઩યોક્ત વલધાનભાથંી એક ઩ણ નશી. 

36. 

ટ્ાવંપોભયય ઩ાલય ને એક ઩હય઩થ ભાથંી ફીજા ઩યી઩થભા.ં...............ફદલ્મા વલના ભોકરે 
છે.  
A. લોલ્ટેજ B. પ્રલાશ 

C. આવવૃત્ત D. ચુફંકીમ ફ્રક્ષ 

37. 

ઇંડક્ળન ભોટયન ુયેટીંગ.........................ભા ંદળાયલલાભા ંઆલે છે.  
A. kVA B. kW 

C. kVAR D. Hp 

38. 

ટ્ાવંપોભયય ભા.ં.................. એડી કયંટ રોવ ઘટે છે. 
A. વાયા લાશક લા઩યલાથી B. રેવભનેળનથી 
C. વારુ ચુફંકીમ ધાત ુલા઩યલાથી D. શાઇ લોલ્ટેજ થી 
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39. 

ન્યટુ્ર ઩ોઇંટ.....................ભાજં શોમ છે.` 

A. ત્રણ પેજ B. એક પેજ 

C. સ્ટાય  D. ડેલ્ટા 

40. 

..................ભા ંકયંટ લોલ્ટેજથી આગ઱ શોમ છે. 
A. ઇંડક્ટીલ ઩યી઩થ B. કે઩ેવીટીલ ઩યી઩થ 

C. યેઝીસ્ટીલ ઩યી઩થ D. ઉ઩યોક્ત તભાભ વલધાનો 

41. 

઩ાલય પેક્ટય = 

A. R/Z B. R/X 

C. X/Z D. Z/R 

42. 

લાશકનો અલયોધ.............થી ફદરાતો નથી. 
A. તા઩ભાન B. રફંાઇ 

C. લજન D. ભટેયીમર 

43. 

ધાતનુ ુતા઩ભાન લધલાથી અલયોધ................ 
A. ઘટે છે. B. લધે છે. 
C. અચ઱ યશ ેછે. D. ઉ઩યોક્ત વલધાનભાથંી એક ઩ણ નશી. 

44. 

જો ચાય અલયોધોને શે્રણીભા ંજોડલાભા ંઆલે અને દયેક નો અલયોધ  4 હકરો ઓશભ શોમ 

તો કુર અલયોધ..................થામ.  

A. 16 kΩ B. 8 kΩ 

C. 4 kΩ D. 1kΩ 

45. 

ટ્ાવંપોભયય ભાટે વનચેના ભાથંી કય ુસતુ્ર ખોટુ છે?  
A. V1/V2  =  E1/E2 B. V1/V2  =  I1/I2 

C. V1/V2  =  N1/N2 D. V1/V2  =  I2/ I1 

46. 

ટ્ાવંપોભયયની કોય.......................ની ફનેરી શોમ છે. 
A. એલ્યવુભનીમભ B. વવરીકોન સ્ટીર 

C. કો઩ય D. પ્રાસ્ટીક 

47. 

ડી.વી. જનયેટયભા ંમોક ............. 
A. ફ્રક્ષ ઉત્઩ન્ન કયે છે. B. ફ્રક્ષને ચુફંકીમ ઩યી઩થ ઩યુો ઩ાડે છે. 
C. આભેચયન ેપેયલે છે D. ઉ઩યોક્ત વલધાનભાથંી એક ઩ણ નશી. 

48. 

કોમ્યટેુટય.....................ન ુફનેલ ુછે. 
A. આમન B. કો઩ય  
C. એલ્યવુભનીમભ D. કાફયન 

49. 

ઘડીમા઱ભા.ં............ભોટય શોમ છે 

A. 3 પેજ ઇંડકવન ભોટય B. યનુીલવયર ભોટય 

C. સ્ટે઩ય ભોટય   D. ઉ઩યોક્ત વલધાનભાથંી એક ઩ણ નશી. 
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50. 

ચુફંકીમ ઩યી઩થભા ંજેભ ફ્રક્ષ શોમ તેભ ઇરેક્ટ્ીક ઩યી઩થભા.ં.........શોમ છે. 
A. ઩ોટેંળીમર B. લોલ્ટેજ 

C. ઩ાલય D. પ્રલાશ 

51. 

એ.વી. ઩યી઩થભા ંપ્રલાશની આય.એભ.એવ. હકિંભતન ુસતુ્ર શ ુછે? 

A. Im/π B. 2Im/ π 

C. Im/2 D. Im/√2 

52. 

ટુ લે સ્લીચ ................... લામયીંગભા ંલ઩યામ છે. 
A. ટ઱ફુ રાઇટ લામયીંગ  B. ડેકોયેળન લામયીંગ 

C. દાદય લામયીંગ D. ઉ઩યોક્ત વલધાનભાથંી એક ઩ણ નશી. 

53. 

ટ્ાવંપોભયયનો કામયકાયી વવદ્ાતં..............છે. 
A. ફ્રેવભિંગનો ડાબા શાથનો વનમભ B. પેયાડેનો વનમભ 

C. ઓશભનો વનમભ D. ઉ઩યોક્ત વલધાનભાથંી એક ઩ણ નશી. 

54. 

ઘયભા ંલ઩યાતા વીરીંગ પેનભા ંકઇ વીંગર પેજ ઇંડકળન ભોટય લ઩યામ છે? 

A. ળેડેડ ઩ોર ભોટય  B. કે઩ેવીટય સ્ટાટય  ઇંડકળન ભોટય 

C. કે઩ેવીટય સ્ટાટય  કે઩ેવીટય યન D. યેઝીસ્ટંળ સ્ટાટય  ઇંડકળન ભોટય 

55. 

1 kΩ =  

A. 10
3
 B. 10

10
 

C. 10
9
 D. 10

6
 

56. 

લાશકનો અલયોધ...................઩ય આધાય યાખે છે.  
A. રફંાઇ B. આડછેદના ક્ષેત્રપ઱ 

C. અલયોધકતા D. ઉ઩યોક્ત ફધાજ 

57. 

જો  E=30 sin 2π 50t શોમ તો લોલ્ટેજની ભશત્તભ હકિંભત...............થામ. 
A. 50 B. 30 

C. 2π D. ઉ઩યોક્ત વલધાનભાથંી એક ઩ણ નશી. 

58. 

ટ્ાવંપોભયયન ુયેટીંગ.............ભા ંશોમ છે. 
A. KWhr B. KVAr 

C. KVA D. KW 

59. 

જમાયે R ઓહ્મ લા઱ા લાશકભાથંી t વભમ ભાટે I એમ્઩ીમય કયંટ ઩વાય થામ ત્માયે 

જુરભા ંએનજી નો લ઩યાવ અથલા ઉષ્ભા ઉત્વર્જન .............દ્વાયા દળાયલી ળકામ. 

A. I
2
Rt B. I Rt 

C. IR
2
t D. I Rt

2
 

60. 

5  અલયોધ ભાથંી 2 A પ્રલાશ ઩વાય થામ ત્માયે ............. ઩ાલય ઉત્વજીત થામ 

A. 20 W B. 10 W 

C. 8 W D. 2 W 

61. 

ઇંડક્ળન ભોટયભા ંલ઩યાતા સ્ટાટયયનો મખુ્મ શતે.ુ...................છે. 
A. ભોટયન ુયક્ષણ B. ભોટય ચાલ ુકયલાન ુ

C. ળરૂઆતના પ્રલાશને વનમતં્રીત D. કામયદક્ષતા લધાયલાન ુ
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કયલાન ુ

62. 

ટ્ાવંપોભયય ઩ય ળોટય  વકીટ ટેસ્ટ કયલાથી............ભ઱ે છે. 
A. કો઩ય રોવ B. કુર રોવ 

C. આમન રોવ D. ઉ઩યોક્ત વલધાનભાથંી એક ઩ણ નશી. 

63. 

ઉજાય લામયલાનો દય કમા એકભ દ્વાયા દળાયલી ળકામ? 

 

A. લોલ્ટ B. લોટ 

C. કુરફં D. એમ્઩ીમય-અલય 

64. 

ત્રણ ફલ્ફ 25 W, 40 W, અને 60 W ભાથંી કમા ફલ્ફનો અલયોધ વૌથી ઓછો શળે?  

A. 25 W B. 60 W 

C. 40 W D. ભાહશતી અ઩યુતી છે. 

65. 

ભેગ્નેટો ભોટીલ પોવયનો એકભ...............છે. 
A. લેફય B. એમ્઩ીમય/ભીટય 

C. શેંયી D. એમ્઩ીમય-ટનય 

66. 

ટ્ાવંપોભયયની..................લાઇંડીગ ના લાશકનો આડછેદનો ક્ષેત્રપ઱ લધાયે શોમ છે. 
A. પ્રામભયી B. વેકંડયી 
C. રો લોલ્ટેજ D. શાઇ લોલ્ટેજ 

67. 

યનુીલવયર ભોટય............... ઩ય કામય કયે છે.  
A. પક્ત એ.વી. વપ્રામ B. પક્ત ડી.વી. વપ્રામ  
C. એ.વી. અને ડી.વી. વપ્રામ ફને્ન D. ઉ઩યોક્ત વલધાનભાથંી એક ઩ણ નશી. 

68. 

વભાતંય ઩યી઩થભા.ં...................વભાન શોમ છે. 
A. એરીભેંટ એક્રોવના લોલ્ટેજ B. એરીભેંટભાથંી ઩વાય થતો પ્રલાશ 

C. લોલ્ટેજ અને પ્રલાશ ફને્ન D. ઉ઩યોક્ત વલધાનભાથંી એક ઩ણ નશી. 

69. 

..................... ઩યી઩થભા ંપ્રલાશ લોલ્ટેજની ઩ાછ઱ શોમ છે.  
A. R-L B. R-C 

C. R-L-C D. L-C 

70. 

ટ્ાવંપોભયયભા ંઓ઩ન વકીટ ટેસ્ટ કયલાથી ................ ભ઱ે છે. 
A. કો઩ય રોવ B. કુર રોવ 

C. આમન રોવ D. ઉ઩યોક્ત વલધાનભાથંી એક ઩ણ નશી. 
 

 

************** 


